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EXNAAS Y AN BEA A

o | EXIAAHR| XA g | ) HAUHR(nd) XA T
825X 4121923 406,0933
I=s 47-2 = 34 34 Kjof=X|X| RRIA
=2 47-3 ch 112 112 Xjot=x|x|od KA
Iss 47-4 ol 123 123 Kjot=X|X|od KR [&
Rl=r=s 47-5 = 20 2 KJoI=X |X|ed pNNES
nss 47-6 = 327 327 Kjot=x|x|ed PNN"S|
ss 4r-7 = 229 229 Xjod=x|x|od KHRIE
nIEs 47-8 ] 314 314 Kjot=x|[x|od KX
A=t 47-9 | 8 8 Xjod=x|x|od KA
IEs 47-10 = 266 266 Kjo{=xX| x| KA [&
Es 47-11 = 344 3 R|O1=X|x|d PNN?S]
Rl 47-12 = 34 3% KJoI=X || NP
nEs 47-13 = 6 6 Kjot=xX|x|od KA
Iss 47-14 = 28 28 Xjo{=xX| x| KA [&
s 47-16 = 105 105 Kjot=X|X|o KR [&
Rl 47-17 = 23 23 AJoI=X |0 pNNES
nss 47-18 = 43 RIof=x|x|od KR
o= 47-19 = 2 20 Kfot=X|X|ed RHX &
Rl 48-1 ch 662 662 Kjot=xX|x|d KA
A=t 48-3 ch 252 252 Xjot=x|x|od KA
osE 48-5 = o7 o7 Kjot=x|x|ed KX [&
EE 48-6 o 5 5 RIA=K[X|A NG
A= 48-7 = 41 41 Xjot=x x| RRIA
Uss 48-8 ] 3 3 RIA=K[X|A NS
sz 48-9 ol 102 102 Xjot=xX|X|od KA
=25 49-1 cH 472 472 Xjoi=x|x|d RRIA
oiEE 49-5 cH 1,626 1,626 Kjod=X x| KX
=S 49-10 el 2 20 Xjot=x|x|od RHX|A
Rl 49-11 cH 257 257 Kjot=xX|x|od KA
Iss 49-12 = 2,298 2,208 Xjof=x| x| KRR
=t 49-14 ch 328 328 Xjoi=x|x|d RRIA
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o | EXAKKK| x| = | FFH() TR () BEX| H|T
31 s 49-15 ch 3 3 Rjot=A|x|o4 NN
R Es 49-16 cH 50 50 Rot=A|x|A RHRIE
3 oEs 20917 & 58 58 Ro¥=A X[ PN PN
K Iss 50 ch 281 281 Kjot=x|x|od KA
3% oEs 50-1 = 453 453 Ro¥=X|X[A PN PNPS
36 0EE 52 = 83% 836 MRBUH IR, K[4=K x| RHRIE
37 Es 52-1 = 1,043 1,043 MRBUH IR, K[4=K x| RHRIE
3 o= 52-3 = 13 13 MREL X, RjoI=K|X| TR
39 =t 53-1 ch 750 750 Rjot=X|x|of NN
40 Rl 53-2 = 13 13 Xjoi=x|x|d RRIA
4 s 54-1 ch 744 744 MREUH x| RHRIE
V) s 54-2 = 13 13 MR X ININPS
3 nis= 54-3 = 7 7 MRZUH IR NS
M s 54-4 ch 284 284 MRBUH IR RHRFE
45 s 55 cH 122 122 MRE U x| RHRIE
46 oiss 56-1 CH 252 252 MeER RS N INES
a7 s 56-2 cH 218 278 MREUH X RHRIE
48 s 56-3 =1 %9 9 MR X ININPS
49 ois= 56-4 = % 26 N e el SV BE NS
50 oEs 57-1 ] 69 69 MREUH X PN PNPS
51 s 57-2 = 769 769 MRBUH X[, K[4=K x| RHRIE
52 s 57-4 cH 23 23 MR X PN INPS
53 s 58 ch 238 238 MPELUL IR, KI4=K x| N NS
54 Es 50-1 cH 9 9 MRBLUH X[, K[4=K|X| RHRIS
5 s 59-2 = 17 17 MRBUH IR, K[Q4=K x| RHRIE
56 nEs 60-1 e 182 182 Rot=x|x|A NN
57 s 60-2 ol 3 93 Rjot=x|x |24 N INES
58 s 60-4 = 556 556 Rot=A X[ RHRIE
59 nis= 60-5 ol 1,005 1,005 RIot=X[x|A NNES
60 EE 60-7 cH 79 79 Rjot=X|x|of NN
61 s 60-8 cH 83 83 Ro¥=x|X[A NN
62 nis= 60-9 ol 172 172 RIQ¥=K|x|A KR
63 s 60-10 cH 139 139 Rjot=A|x|of NN
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oI | EXIAKHK| i s | SFoE() QA () XA BT
64 o= 60-11 = 20 2 RIA=X XA NS
65 niss 60-12 = 22 22 RIA=X (x| KR
66 ns= 60-13 = 164 164 RIA=X (XA RHRIE
67 IEE 60-14 (= 24 24 RIoA=A (x| KR
nss 60-15 = 200 200 RIA=X x| NS
69 nEE 61-1 cH 623 623 MPEQIHIZ74X|0d, K|o4=X|X|od RRIA
70 nss 61-2 = 1,610 1,610 MRELUS IR, RIA=K[X|A NG
71 =2 62-1 ] 3% 336 MRELUE F7X|A KR
72 Iss 62-2 = 50 50 HPEQH I X|0d Kjod=X|X|od NONPS]
73 = 62-3 = 13 13 MRELUE 7RIS NS
74 nss 62-4 = 656 656 MREURIFIHA|A NS
75 ale=2=s 63-1 | 708 708 HRELUL A, KIH=K[X]A NG
76 nss 63-2 oH 40 40 RIA=K[X|A NG
s A== 63-3 = 159 159 MRELUL IR, KA=K[X|A NS
78 IEE 63-4 ] 89 89 RIoA=A (x| NS
9 Iss 63-5 = pA] 23 MPZEQH IZ=74X|0d Kjot=x|X|od KA [&
80 RlE=r=s 63-6 = 657 657 bSlPESSTTESyRp ek pNNES
81 =2 64-2 o 169 169 HREUL A, KIA=K[X]A PN NES
8 =2 64-3 = 1,137 1,137 MRE U IR, RIQI=K[X|A NS
8 o= 65 il 3% 36 RIA=X|X|A TR
84 nss 65-2 il 179 179 RIoA=A[x|A NS
85 nis= 66 o 284 284 RIoI= K[| NG
86 =2 67 o 149 149 RIA=X XA NG
87 oSS 68 & 8 83 RIA=K[X|A NG
83 A== 68-1 &= 122 12 RIoA=A[x|A NS
89 nss 68-2 o 112 112 RIA=X x| NG
2 nss 68-3 = 7 7 RIA=X x| NS
91 niss 69-1 el 13 13 RfoA=K|x |4 NS
4 =2 69-2 = pA} pA} RIA=X XA NNES
9 oSS 70 o 3r7 37 RIA=K[X|A NS
94 N 71-1 s 221 221 RfoH=R|x[ APNPS
% nss 71-2 = pA} pA} RIoA=A (x| NS
% nss 71-3 = 13 13 RIA=K[X|A PN NES
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a g
o | EX|AKKX| i s | SFoE() HIHA(m) BEXA BT
97 A== 71-4 cH 542 542 KjQ=K|X|od INIVNPS|
% Iss 71-5 = 13 13 Kjot=X|X| PNNES|
] Iss 71-6 cH 149 149 Xjo$=X|X|d RHX|A
100 IEE -7 = 7 7 Kjot=x|x|ed PNNYS|
101 SE 72-1 CH 278 278 Kjot=X|X|od NPNPS|
102 A=t 72-2 = 17 17 Kfot=X|x|ed PNNYS|
103 oIEs 73 o 245 245 KIoI=x|x|d KA
104 0EE 74 o 245 245 RIof=X| x| KA
105 L= 75-1 ch 198 198 RIO$=X K| PP
106 Rl 75-2 = 13 13 RjoI=X x| NN
107 A=t 76 cH 238 238 Rjot=X|X| NP
108 oE=s 77-1 =1 46 46 Kjo=X|X|od RXIA
109 RlE=r=s 77-2 = 3 3 KJoI=X || pNNES|
110 I=s 77-3 = 7 7 Xjoi=x x| RRIA
111 Rl=r=s 77-4 = 3 3 Kjot=x|x|od KA
112 A== 78-1 cH 245 245 Kjot=x x| KRR
113 =5 78-2 = 136 136 Kfot=X|X|ed PNNTS|
114 os=s 78-3 =1 7 7 Kjo=X|X|od RRIA
115 =2 79-1 ] 129 129 Xjod=x x| KRR
116 Iss 79-2 = 3 3 KJOI=X || NPNPS|
117 Rl=r=s 79-3 = 20 2 KjoI=R x| NP
118 = 81 ch 162 162 RjoI=K K| PSS
119 A= 82-1 CH 255 255 Klod=xX| x| NPNPS|
120 oEs 82-2 = 20 20 Kjof=X|x|od KK
121 A= 83 ch 46 46 Kjot=x|x|od KA
122 Uss 84 cH 0 50 RIA=KIX|A NG
123 nss 85 ol 1,692 1,692 ARAI=X[X A NS
124 A= 85-1 = 171 171 Xjod=X |K|od RERIA
125 IEs 85-2 9| 10 10 Kjot=X|x|o PNPNPS|
126 Iss 8-3 cH 209 209 Xjot=X x| RHX|A
127 = 85-4 T 129 129 Kjot=X|X| NPNPS|
128 Rl=r=s 85-5 = 40 40 Kjof=X|x|0d NP
129 osE 85-6 = 0 30 Kjot=X|x|od KA [&
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o | EX|AAKA] i s | SFoE() HIHA(m) BEX|A Tl
130 IEs 8-7 T 14 14 KjoI=X x| KX [&
131 =2 86 2 63 63 Kjot=X|X| PNNES|
132 Iss 86-1 T 2 26 Xjoi=x x| RHA[&
133 Iss 86-2 = 2 26 Xjoi=x x| RRIA
134 Iss 87-1 | 37 37 Kjod=x x| AR
135 Rl=r=s 87-4 T 72 72 Klot=x |0 RRIA
136 Iss 87-5 cH 327 327 Xjot=X|x|od KA
137 A= 87-8 = 46 46 Kjot=x|x|ed PNNYS|
138 Iss 87-10 = 0 30 KJoY=X K| NONPS]
139 Rl 8 ch 238 238 Kjot=x|x|od KA
140 =S 89 cH 13 13 Xjod=x |K|od RRIA
141 Rl=s 90-1 = 122 122 Riot=x|x|od NS
142 RlE=r=s 20-2 = %3 93 KJoI=X || pNNES|
143 A= P0-3 = 522 522 Kjot=x|x|od KA
144 Rl=r=s P0-4 = 7 7 Klod=x |x|0d RRIA
145 Iss P0-5 = 7 7 Kjot=X|X|od KA [&
146 EE 91-1 cH 327 327 Xjod=X|K|od RRIA
147 IEs 91-2 = 20 20 Kjot=X|x| NN,
148 =2 91-4 = 521 521 Xjod=x x| KRR
149 Iss 91-5 = 46 46 Kjot=X|X| NPNPS|
150 sz 91-7 cH 778 778 Xjot=x|x|od KA
151 IEs 91-8 = 1,172 1,172 Kjot=X|X|od NN
152 A= 91-9 = 5 5 Kjot=X|x|o NPNPS|
153 oEs 92-1 = 145 145 Kjof=X|x|od KK
154 =2 R-2 | 1,478 1,478 Xjod=x|x|od KA
155 nEs R-4 H 139 139 Xjod=x|x|ed RHA[&
156 Iss 93-1 CH 945 5 Xjo{=xX| x| NPNPS|
157 =S R3-2 = 208 208 Kjof=x|x|0d pNNES
158 IEs 9%3-3 cH 600 600 Klod=X x| PNN"S|
159 Iss 93-4 X 614 614 Xjoi=x| x| RHA[&
160 = 93-6 = 5 5 Kjot=X|X| NPNPS|
161 sz 93-7 M 881 881 Klot=x x| RRIA
162 osE A = € e Kjot=X|x|od KA [&
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o | EX|AAKA] i s | SFoE() HIHA(m) BEX|A H|D
163 osE %-1 ™ 165 165 Kjot=x|x|ed RHXIA
164 RlE=r=s 9%-2 ch 670 670 Kjof=x|x|od PNNES|
165 I=s 9%-3 = 320 320 KJoI=X || PN
166 Iss -4 H ¥ 3% Kjot=x|x|od KA
167 Iss %-5 = 3,374 3,374 KJoI=X || KR [&
168 sz 9-6 = K] 33 Klot=x |0 RRIA
169 RlE=r=s %u-7 = 352 352 Klot=x || RRIA
170 =2 %-8 = 87 87 Kjot=x|x|ed PNNYS|
171 Iss % & 0 30 KJOI=X || NPNPS|
172 Rl %-1 cH 404 404 RjoI=X x| RRIA
173 =S %-2 = 1,805 1,805 RIof=X|x|od KR
174 =2 %-3 = 181 181 RjO$=x|X|od PP
175 oEs 95-4 =1 47 47 Kjo=X|X|od KUK A
176 I=s %-6 & 34 354 Kjot=x|x|od KA
177 Rl %-7 ch 614 614 Kjot=x|x|od KA
178 Iss %-8 CH 307 307 Kjot=X|X|od PNPNPS|
179 RlE=r=s 9%-12 = 335 33 Klot=x || RRIA
180 niss %-15 cH PA} pA; RII=KIX|A PN NES
181 A= %-17 & 49 49 Kjot=X|X| PNNYS|
182 Iss 9-18 H| 363 363 Kjot=x || KA [&
183 A=t %-1 o 1,229 1,229 Ajot=A[X| NS
184 sE %-2 = k'S 36 Kjot=x|x|ed R [&
185 A= %-4 & 668 668 K|oi=X || RN [&
186 =2 249-6 = 042 o2 Xjo=X|K|od RRIA
187 === 250 = 4,783 4,783 Xjo=x |x|ed RRIA
183 Iss 251-2 = 149 149 Kjot=X|X| NP
189 Iss 252-1 CH 851 851 Kjof=X | x| NONPS]
190 Rl=r=s 252-2 = 23 23 JoI=X|X|ed pNNES
191 oEE 252-4 = 343 343 RII=KIX|A NNES
192 Iss 253-1 = 2,942 2,942 Xjoi=x| x| RHA[&
193 oEs 253-2 =1 1,607 1,607 Kjof=x|x|0d NPNPS|
194 A=t 253-3 = 476 476 Xjoi=x|x|d RRIA
195 == 253-4 = 1,021 1,021 RIO$=X K| PP




"3 g Metet e e 2028 12 22 Yo
o | EX|AAKA] i s | SFoE() HIHA(m) BEX|A H|T
1% IEs 253-5 = 1,408 1,408 Kjot=X|x|od PNPNPS|
197 nss 253-6 = 1,319 1,319 KIoI=x|[x|d KA
198 Iss 253-7 = P % KJof=X K| NPNES|
199 =t 253-8 = 921 91 KjoI=X|x|od KR
200 Iss 254 = 1,825 1,825 KJoI=X || KR [&
201 sz 255-1 = 3408 3,408 Xjoi=x x| RRIA
202 Iss 255-2 = 7 7 KJot=X|X| NP
203 A= 256 = 56 56 Xjoi=x x| KRR
204 Iss 257-1 = 1,488 1,488 Kjot=x x| RHA[&
205 Rl 257-2 = 192 192 RjoI=X x| NN
206 Rl=r=s 257-3 = 1,515 1,515 Klot=x x| RRIA
27 ale=2=s 257-4 = 279 279 Xjod=x x| KRR
208 oEs 257-6 =1 1,003 1,003 Klot=x || RRIA
209 I=s 257-15 = 37 37 Xjoi=x x| RRIA
210 =t 258-1 = 1,180 1,180 Kjo=x|X|od KR
211 o= 259-1 = 714 714 Rjo=K|K|od KUK
212 Nss 259-2 = 218 218 RJoI=X x| pNNES
213 oiEE 260-1 = 2132 2132 Kjot=x|x|ed KA [&
214 A= 260-2 = pA} 2 Kjot=x|x|ed KA
215 nEE 261-1 = 2,854 2,854 Xjo=x| x| KA [&
216 A=t 261-3 = 370 370 KJo¥=X|X| NP
217 sE 262-1 = %61 %1 Xjod=x|x|od R [&
218 nsE 262-2 = 3 3 Kjot=x|x|ed RN [&
219 = 263-1 cH 231 231 HPZQlH IZ=7]X|od  Kjot=X|X|od KK
20 ss 263-2 ch 450 450 A=A XA NS
221 = 263-3 = 10 10 M2l =X NP
222 Iss 263-4 = 69 69 HMPZQlE IZ=7{x|od KR [&
23 nss 263-5 =4 3 3 HRELUE 7RIS NP
224 oEE 263-6 = 116 116 MPZEQH IZ=74X|0d Kjot=x|x|od PNN"S|
225 Iss 263-7 cH 332 332 Xjot=X x| RHX|A
226 = 263-8 X 954 %4 MPZQH IZ=74X|0d Kjot=X|X|od NPNPS|
27 el 264-1 | 463 463 MRELUL IR, RIA=K[X|A NS
228 IEs 264-2 H 2,106 2,106 MPZEQH IZ=74X|0d Kjot=x|X|od KA [&
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o | EX|AAKA] i s | SFoE() HIHA(m) BEX|A H|T
229 =2 264-3 = 119 119 HMPZUB IZ{x|od pAES|
20 nss 264-4 =4 17 17 MRELUE XA NP
231 AEs 264-5 = 46 46 holP eSSl ESy YN x| NPNES|
232 =25 265-1 cH 572 572 MPEQIH = K|od, Kjot=X|X|od KA
233 Iss 265-2 = 3 3 HPZQH IZ=74X|0d Kjot=x|X|od KR [&
234 nEE 265-3 = 40 40 Kfot=X|x|ed PNNYS|
235 Iss 266-1 cH 225 225 Xjot=X|x|od KA
236 =2 266-2 = 13 13 Kjot=x|x|ed PNNYS|
237 Iss 266-3 = 17 17 Kjot=X|X| NPNPS|
238 nEE 267-1 o 212 212 Xjot=x|x|d KA
239 Rl=r=s 267-2 = 17 17 KJoI=R |X|0d NP
240 niss 268-1 o 433 433 RIA=K[X|A NG
24 RlE=r=s 268-2 = 60 60 KJoI=X || pNNES|
282 A= 269-1 ch 225 225 Kjot=x|x|od KA
43 IEE 269-2 = 17 17 RIof=X|x|ed KR
244 Iss 210 CH 301 301 Kjot=X|X|od PNPNPS|
245 =5 271 cH 258 258 Xjod=X|K|od RRIA
246 niss 272-1 ol 7 7 MRE U 74X PN NES
247 =2 272-2 o 23 238 Xjod=x x| KRR
248 oEs 272-3 = 374 374 HMPZEQEIZ7{X|0d, Kjod=X|X|od KRR
249 nEE 272-4 X 881 881 MRELUL XIS, RI=K[X|A NS
250 o= 272-7 il 276 276 HRELUL A, KIH=K[X|A NS
251 nis= 273-1 il % % MRELUEEIHX|A NS
252 oss 273-2 = 20 20 HPZQlH IZ=7]X|od  Kjot=X|X|od KK
253 2= 273-3 = 10 10 MBS IZ={x|od K|
254 nEs 273-4 (=3 2% 26 MBS NG
25 s 274-1 cH 142 142 HPEE FE{X|od KR [&
2% nEs 274-2 = 242 242 MPEUE IZ7{x|od KRR
257 nis= 274-3 cH 231 231 MRE R 74X NNES
28 o=t 274-4 = 10 10 MPEQE IZ7{x|d KX
259 o= 274-5 il 145 145 MBS N NES
260 Rl=r=s 274-6 cH 109 109 HpEelH IZ={x|od RRIA
261 nss 214-7 = 2% 2 MBS PN NES

_‘IO_
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o | EXAKKK| x| A | %) TR () BEX| Clin
262 nis= 274-8 ol 285 285 MR UL X PN INPS
263 s 274-9 = 36 36 MREUH x| NS
264 L= 274-10 =i 224 224 MREUH XA PN PN
265 s 275-1 = 1,256 1,256 MREUH x| NS
266 ois= 275-3 = 3 33 MREUH X PN PNPS
267 s 276-1 = 13 13 MRELUH X NS
268 ois= 216-2 cH 142 142 MRELUH X NS
269 s 276-3 o 129 129 MR x| RHRIE
210 s 276-4 ] 69 69 MREUH X PN PN
271 s 276-5 cH 159 159 MRE U X RHXIE
2 osE 276-6 = 3 3 MRZ U 74X RHRIE
273 s 2717-1 ] 152 152 MR X ININPS
274 s 217-2 = 13 13 MRELUH x| NS
275 oEE 2717-3 = 165 165 MRBUH IR NS
216 s 278 cH 165 165 MRE U x| NS
217 nis= 279 cH 185 185 MR | PN INPS
218 0sE 279-1 = 30 30 MRZ U 74X RHRIE
279 o= 280-1 | 347 47 MR X ININPS
280 s 280-2 = 79 79 MR X RHRIE
281 oEs 280-3 | 347 347 MREUH X PN PNPS
282 ns= 281 ch 270 210 MRE U 74X RHRIE
283 s 281-1 ol 100 100 MR X PN INPS
284 =t 282-1 ch 182 182 MR X PN INPS
285 IsE 282-2 cH 204 294 pSlPESSTC ESyRp ek KK
286 A= 282-3 = 7 7 HPZQlH IZ=7{x|od RRIA
287 nEs 282-4 =5 13 13 MREUH x| NN
288 oiEE 283-1 CH 284 284 MRS XA NINES,
289 s 283-2 ] 122 122 MRELUH x| NS
20 =t 283-3 = 10 10 MR | RHRIE
291 Iss 284 cH 251 251 pS|PESST ESyRY ek NPNPS|
292 e=r= 285-1 cH 106 106 MREUH x| PN PNPS
293 ns= 285-2 ol 1% 1% MRZ U 74X RHRIE
294 = 285-3 X 139 139 MR UL X PN INPS
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o | EX|AAKA] i s | SFoE() HIHA(m) BEX|A Clin]
295 o= 285-4 il 126 126 MRS XA PN NG
2% o= 285-5 al] 192 192 MRELUE XA NP
207 Iss 285-6 cH 73 73 HPZQlE IZ=7{x|od RHA[&
298 A== 285-7 = 7 7 MRELUE 7RIS NS
29 nss 285-8 = 3 3 MBS NG
300 nss 285-9 = 2% 2 MRELUE 7RIS NS
301 nss 285-10 = 7 7 MRELUE 7RIS NG
302 =2 285-11 = 10 10 MRELUE F7X|A KR
303 ns= 286 il 340 340 MBS RHRIE
304 o= 286-1 ! 436 436 MRELUE 7RIS NS
305 nsE 286-2 cH 216 216 MBI ZI{x| NS
306 EE 286-3 = 50 50 MBS NG
307 nss 286-4 = 10 10 MRELUE XA NG
308 oEE 286-5 = 13 13 MRELUEFIHX|A NS
309 = 286-6 = 10 10 P s K| RRIA
310 o= 287-1 il 204 204 MBS NG
311 nss 287-2 = 30 30 HRELUE XA NG
312 nis= 287-3 = 7 7 MRELUEFIX|A NS
313 =2 287-4 = 11 11 N e el SV BE NS
314 o= 288-2 ] 281 281 MBS NG
315 sz 288-3 = 30 30 XeE U XA N INES)
316 nsE 288-4 = 7 7 MREUEEIX|A NS
317 nss 289 il 301 301 MBS NG
318 nissE 290 il 479 479 MBS FIHXA KR
319 I=s 291-1 CH 403 403 HMeE e F={K|d RHK[A
30 o= 291-3 = 17 17 MBS NG
321 o= 22 il 350 350 MBS NS
K77) nss 293-1 | 205 205 MNREURIFIHX|A KR
33 nis= 293-2 | 132 132 MRE R 74X NNES
324 oEs 293-3 = 3 33 MRE L Z={K|d NONES|
325 oEs 293-4 = 10 10 ho[PESSIIS] =Sy RN x| NS
3% A=t 294-1 o 248 248 MBI KR
327 nsE 204-2 = pA} pA} MBS PN NES
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Afloyo, e ERler zd E.|' Lt o =5 20234 18 22 Eed
o | EX|AANA] XA A | %) QA () BEXA Ll
38 ois= 295-1 il 261 261 MREUE XA RHRFE
329 ois= 205-2 = 7 7 MREUH IR NP
30 nis= 295-3 = 3 3 MRZ U IR NP
331 = 295-4 = 7 7 HREUH 74X NS
3R ois= 296-1 al 337 337 MREUEFIHX|A NS
333 = 2%-3 = 17 17 MBS IFIA|A KR
334 ois= 296-4 = 3 3 MREUH IR NG
335 ois= 297-1 ol 198 198 MRELUE F7X|A KR
3% ns= 27-2 = 13 13 MRZ U IR ININES)
337 nss 298 ] 436 436 MREYUR XA NS
3B 0EE 29 o 380 380 MREURIFIHA|A NS
339 ois= 300 oH 347 347 MRELUEEIX|A NS
340 L= 301-1 ol 460 460 MRZUH IR NG
341 oEE 301-2 = 10 10 MREUH IR NS
K7 A== 302 ] 139 139 MBI NS
33 o= 303-1 al 268 268 MREYUEEIX|A NS
K11 L= 303-2 [~ 3 3 MBS IFIX|A NG
345 nis= 304 ol 584 584 MREUH XS PN NES
346 = 304-1 o 284 284 MBS 7{K|A NS
347 e=r= 304-2 = 7 7 MRZ U 74X ININES)
8 ois= 304-3 [~ 8 8 MREUH IR NS
349 s 305 = 165 165 MREUEEIX|A NS
350 nis= 306 = 53 53 HRE U IR NG
351 niss 307-1 ol 140 140 MREUH IR NG
352 A== 307-2 = 2% 2% MBI NS
353 o= 307-3 = 354 354 MREUE XA NS
354 o= 307-4 ] 132 132 MREUEEIHX|A NS
35 nss 307-5 o 218 218 MNREURIFIHX|A KR
3% nis= 307-6 il 265 265 MRE U 74X NS
357 Iss 07-7 = 17 17 pS eSS =N =Sy N eE! NONES|
38 o= 307-8 = % 9% MRZ U 74X NS
359 ois= 307-9 = 11 11 MBI KR
360 s 308 = 136 136 MREUEFIHX|A NS
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4
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H
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Ao3o S SR Z gfLt & = 20234 18 29 g
o | EXIAKHX| x| = | FFH() TR () BEX| Clin]
304 o= 325-3 = 7 7 MBS 7| PN NG
3% oEE 3% = 157 157 MBI RHRIS
3% =t 326-2 = 1,883 1,883 MREUH XA PN PN
97 =25 327 = 1,725 1,725 MIBLE AR, MBS 71X A NS
3% oEE 329 ch 7 7 MREUH X PN PNPS
3%9 s 329-1 = 873 873 MISYH IR, MREUREARS | R
400 EE 329-2 = 219 279 MRELUH X RHRIS
401 s 30 ch 30 30 MRB U x| RHRIE
402 =t 331 cH 36 36 MREUH X NN
403 s 332 = 304 304 MR UL x| RHRIE
404 ns= 333 CH 294 29 MU K[ ININES
405 nisE 334 cl 264 264 MRS EEARA IS,
406 EE 335-1 ch 553 553 MRELUH x| RHRIS
407 s 335-2 ch 34 34 MRBUH IR PN
408 o= 335-4 = 7 7 MBI NS
409 oEE 335-5 = 10 10 MR | PN INPS
40 alE=i== 335-6 = 10 10 MU 7K ININES
M s 335-8 cH 10 10 MRBUS x| NN
42 s 335-9 | 13 13 MRB U x| RHRIE
43 =t 335-10 cH 132 132 MREUH X PN PNPS
Mo owEs | Bl | = 1% g | NSEEY iﬁ;ﬁfﬁgi@ P o
415 s 336-2 = 36 36 MPBUL XS], K[Q4=K || N NS
416 s 337-1 = 692 692 MPRBUL XS], K[Q4=K || RHRIE
M7 s 356-1 = 1473 1,473 MISUH IR, K[Q4=K x| RHRFE
418 oEEE 357-1 = 1618 1,618 MISUH XA, K4=K x| PN PNPS
419 =t 358-1 = 522 522 MBI PN INPS
420 oEE 358-9 = 1,892 1,802 NI ES=TIEl PN e NN
421 EE 359 | 1,235 1,235 MBI KRS
422 oEE 361 = 245 245 MBI TR
423 s 362 | 255 255 MBI PN PNPS
24 s 363 = 564 564 (I ES=TE PN e RHRIS
425 =t 364 2 274 274 MBS EEI{x|od RHRFE
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2023 18 28 e e e - Ao3o %

o | EXIAKKX| XA = SFHA(m) MM (1) XA in]
426 A= 365 H 1,514 1,514 M1SE EHAXA ININES
4827 Iss 366 A 119 119 1SR XA NP
428 Iss 367 X 608 608 1SR XA NINES
429 Iss 368 9| 1,008 1,008 ISR XA N INES)
430 Iss 369 M 89 89 1SR XA ININES
431 =i 370 | 208 208 1SR XA NS
432 =i 371 X 261 261 1SR XA NP
433 == 32 | 456 456 1B EEHRA NS
434 = 373 X 1,633 1,633 ISR XA ININES
435 Rl 374 A 198 198 MBS FAXA NS
43 niss 375-1 | 416 416 P IESTESTINEE PAPAES]
437 ols= 376 | 317 317 M1 Z7{x|f RS
438 olss 377-1 ot 320 320 1B 7{x|of YR
439 I=s 378-1 M 831 831 ISR XA NS
440 Rl 379 H 688 688 SR XA N INES
M1 = 380 M 1,408 1,408 M1ER EHRA N INES
) niss 381 | 463 463 MBI S|
A3 o= 381-1 S| 430 430 MiE LR XA N INES
mh | wisE B2 | A 607 607 M ELZ7 X0 R[S
M5 Iss 382 X 1,481 1,481 1SR AR A N INES
A6 sz 383 A 330 330 1SR XA NS
M7 Iss 383-1 X 660 660 MBS AR ININES
A8 Iss 383-2 | 660 660 MBS AR N INES
449 = 383-3 | 1,266 1,266 1SR XA NP
450 == 384-1 H 1,332 1,332 1SR XA N PNES
451 oiss 385 = 383 383 1SR XA ININES
5 = 386 X 1121 1,121 1SR 7{R|of KA
453 Rl=r=s 387 = 1,621 1,621 MBS FHXA NS
454 oEs 387-1 = 89 89 MIELUE XA PN INES
455 oss 387-2 = 1,802 1,892 MBS AR, XIo=X[X[A ININES
456 nss 389 X 508 508 1SR XA ININES
457 Rl=r=s 380-1 M 348 348 MBS FAXA NS
458 =S 389-2 A 391 391 M1EUE XA ININES
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A2 T BNy A gLt = 20234 18 22 g2
ol | EXAKYK| x| = | FFH() A () X Clin]
459 s 390-1 | 1,247 1,247 MBS XA PN INPS
460 s 390-2 = 162 162 MBI TR
461 = a5 = 502 502 MBS PN PN
462 Iss 446 =2 185 185 HISUE K| RRIA
463 oEE 447-1 | %9 9 MBS x| PN PNPS
464 o= M7-2 | 268 268 (I ES=TE AP TR
465 EE a8 = 612 612 (I ES=TE AP RHR[A
466 s 449 | 1,504 1,504 NI ES=TiE S APN R NN
467 nss 450 il 727 727 MBS EEARA IS,
468 o= 451 | 575 575 MBS x| TR
469 s 452 | 1,141 1,141 MBS x| RHRIE
470 s 454 = 887 887 MBS XA ININPS
4 =) 455 = 1,064 1,064 MBS RHR[E
472 = 456-1 ch 180 180 MRBUH IR TR
473 s 457-1 = 108 108 MRE U x| TR
474 s 457-3 = 7 7 MBS x| PN INPS
475 s 457-4 = 101 101 MREUH X RHR[A
476 s 458-1 = 849 849 MRBUS x| NINES
4 oEE 458-2 = 13 13 MISLLEIR|, MpEUR AR | R
478 =t 458-3 = 513 513 MISULIR|, MREUR TR | RIXE
479 = 459-5 = 1,1% 1,195 MISYLEIX|, MREU AR | R
480 s 460-3 = 691 691 MIBUL IR, MREU TR | R
481 s 463 = 63 63 Rjot=A|x|o N NS
482 oEE 464 ch 3808 3808 HIELR AR, Kjot=K|X|e] RHRIE
483 s 464-4 = 413 413 Rjot=K|x|o TR
484 oEE 464-5 =5 56 56 Rjot=x|x|of NN
485 s 464-6 = 384 384 MBS FIX|A, KI4=K x| PN INPS
486 oksE 464-8 = 61 61 Rot=A X[ RHR[A
487 oEE 465-1 = 1,120 1,120 MBS XA RHRIE
488 nis= 465-3 = 3 3 1B IR RHRIE
489 Es 465-4 = 10 10 MIBUL IR, MREUR TR | RIXE
490 oEE 465-5 = 7 7 MREUH x| TR
491 oEE 465-6 = 20 20 HREYH x| NS
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2023 14 2

Mt e 298

o3 x| = | FFH() HRIA] BEX| Clini
i'e74 465-7 = 1819 1,819 MIBLL IR, MpEUR AR | R
493 465-8 x} 469 469 MREUH x| RHRIS
494 465-9 = 116 116 MBS PN PN
4% 465-10 = 127 127 MRS U EEI{x|o RHRIE
4% 466-3 = 3 23 ISR X[ PN PNPS
497 466-4 = 53 53 MISYH IR, MREUREARS | R
498 466-6 = 137 137 MRELUH X RHRIS
49 466-8 = 962 962 MRB U x| RHRIE
500 467 o 215 215 MBS EE{x| PN PN
501 468 = 2317 2317 MISUH X[, K[4=K x| TR
502 468-1 = 969 969 HIELL AR, Kjot=K|X|e] RHRIS
503 469 = 1312 1,312 Rjot=A|x |24 ININPS
504 470 | 1,121 1,121 Rjot=X|x|of RHR[E
505 412 ch 15 15 Rot=A|x| PN
506 473 =1 1,527 1,527 PN ESNPN[e] RIK =
507 474 2 72 72 Rjot=x|x|o4 NINES
508 475 = 1,652 1,652 HIELL AR, Kjot=K|X|ed RHRIS
509 476 = 1312 1,312 MISUL IR, K[Q4=K || NN
510 417 = 12 122 Rot=A|x| NS
511 478-1 = 1,676 1,676 MBS IR, K4=K x| PN PNPS
512 478-2 = 906 906 HMIELL AR, Kjot=K|X|ed RHRIS
513 479 | 1,861 1,861 NI ES=TIEl PN e PN INPS
514 480 = 228 228 NI ES=TiEl S APN e PN INPS
515 481 = 1,702 1,702 MISUH X[, K4=K x| RHRIS
516 482 = 171 171 MBS IR, K[Q4=K x| KRS
517 1464-4 + 9 9 Rjot=x|x|of IS
518 1464-5 + 122 122 Rjot=x|x |24 PN INPS
519 1465 = M 4 Rjot=X|x|of RHRIE
520 1465-1 = 7 7 Rjot=A|x|o RHRIE
521 1465-2 = 9 9 Rjot=X|x|of PN PN
522 1466 = 476 476 Rjot=X|x|of N INES
523 1467 = 2810 2810 MRBUH IR, K[4=K x| RHRIS
524, 1467-1 ch 11 11 Rjo#=x|x|o4 NP,
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AB3, % A gLt & = 20234 18 22 #L2g
1% X|eH = SFHA(m) MM (1) XA Bl
525 1467-2 = 26 26 RIQ¥=K|X|A NS
526 w3 | = 20 20 Rjot=R{x|od R[S
527 u3 | 3 13106 13106 g lﬁ;ﬁﬁ%i@ TR i
528 w1 | g 311 311 Rjot=R{x|od R[S
529 1473-8 T 59 59 MBS XA ININES
53 une | = 61 61 Rjot={x|od R[S
531 1475 = 83 83 (el SV BE KR
532 1476-4 T 356 3% SYUHFHX|A, XIo1=K|X|A NS
533 1477 = 86 86 XIS, MBI ININES
54 o | = 721 o THEEERIRLL TREEST AP
53 ugt | A 6,428 6,428 Rjot=[x|od e
536 M60-2 = 305 305 KJoI=X x| NP
537 Ne18 | = 124 1246 Rjot=[x|od R[S
538 Net9 | = 1540 1540 Rjot=[x|es R[S
53 Mot | o75 o75 Rjot={x|od NS
540 Mot | = 650 650 Rjotsxx|es R[S
541 Mot | 29 2% Rjot= (x|l R[S
512 Mo | = 1 1 Rjot=xx|od R[S
53 N7 | = 1662 1662 g iﬁ;ﬁfé%i@ TR iy
544 Alg2-8 ol 92 792 ERA(, KIoi=K[X| NS
545 Mea-3 el 1,289 1,289 AJoI=X (x| N INES
546 Nes3 | el 3261 3261 Rjot=R{x|od R[S
547 516 | Cf 9 9 Riot=x (X[ A
518 519 | of 1 1 Rjot=R{x|od N
549 97-2 = 382 332 AJoI=X (x| At
550 97-3 ch 43 43 KjoI=X x| At
551 97-6 o 6 6 AJot=X[X| 2t
552 o7 | 114 114 Rjot=x x|t AR
553 o9 | of 2 24 Rjot={x|od N7
554 o0 | of 4 4 Rlot=R iR/ A
555 o-f | o 81 81 Rjot=x x|t A
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20234 18 22 ool e e =

e =

ol | EX|AKIK| XA ANF | ) U () XA

556 niss 97-12 cH 66 66 Xjo=x|x|od
557 0sE 97-13 ol 89 89 RIQ¥=K|x|d
558 Iss 97-14 CH 53 53 Xjoi=x x|
559 IEE 97-15 il 27 27 RIot=K| x|
560 niEs 97-16 c Iy Iy Rjot=x|x|ed
561 nEE 97-17 | 11 11 KIo4=K|x|od
562 oIEs o7-18 ul] 2 2 KIo4=x|x|d
563 s 97-19 oH 12 12 Ro=X|x|d
564 oEs 97-20 o 5 5 Xjo4=x x|
565 A=t 97-21 = % o Xjoi=x|x|d
566 A=t o7-24 cH 52 52 Xjot=x|x|od
567 Es 97-25 ] 62 62 Rjot=x|x|d
568 oEs 97-26 ] 73 73 Kjo4=x x|
569 =2 9-1 cH 3 3 Xjot=x |x|od
570 IEE 98-3 ] 40 40 RIo4=K| x|
571 sE %-5 cH 2 2 Xjod=x|x|od
572 Nss %8-6 cH 2 2 Xjoi=x|x|d
573 oiEE %-7 ™ 258 258 Kjot=x|X|od
574 A= 9 = 1 1 Xjo=x |x|ed
575 0SS 9-1 & 119 119 R|Q¥=K|x|d
576 A=t %0-2 = 73 73 Xjoi=x|x|d
St niss %9-3 H 574 574 Kjot=x|x|od
518 sE 99-4 A 210 210 RIA=KIX|A
579 nissE 100 il 1,313 1,313 RIA=K[X|A
580 A= 100-1 H 169 169 Kjot=x|x|od
581 nEs 100-2 = 182 182 Klof=x|x|d
582 nss 100-3 = 53 53 KIof=X|[x|d
583 A= 100-4 = 7 7 Xjoi=x x|
584 oEE 100-5 = 79 79 Xjo=x |x|od
585 oSS 101-1 ] 1,338 1,338 Xjo4=x x|
586 = 101-2 = 83 83 Xjoi=x| x|
587 A=t 101-3 & 55 55 Xjoi=x|x|d
588 osE 101-4 = 46 46 Kjod=xX| x|
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"3 g AL e 20234 18 22 Y29l
o | EX|AAHR| XA ANF | ) HUHR () BEX|A |
589 niss 101-5 il B 3 XjoY=x x| At
590 Iss 101-6 cH 6 6 Xjoi=x|x|0d Al
591 = 102-1 = 949 949 Xjod=x|x|od Al
592 =25 102-2 = 50 50 Xjot=x|x|od Al
593 SE 103-1 CH 1,000 1,000 Xjod=x|x|od Al
54 sz 103-2 = 13 13 Xjoi=x x| Al
595 = 103-3 = 88 888 Xjot=x|x|od A
59 =2 104-1 = 1,230 1,230 Xjod=x|x|od A
507 S 104-2 = 1,256 1,256 R|Q#=K|x|d A
598 A=t 104-3 = 1,183 1,183 Kjot=x|x|od A
599 A=t 104-4 = 1,038 1,038 Xjot=x|x|od Al
600 = 104-5 = 1,144 1,144 Xjo=x |x|od At
601 Iss 104-6 = 10 10 Xjo=x|x|0d Al
602 oss 104-7 = 13 13 RfoA=K|x | ARt
603 A=t 105 = 565 565 Kjot=x|x|od Al
604 niss 106 = B4 34 Xjod=x|x|od At
605 =5 106-1 = 327 327 Xjot=x|x|od Al
606 =S 106-2 A 172 172 Kjoj=x |K|ed =1
607 Es 107 = 1,580 1,580 Xjod=x|x |24 AlE
608 nEE 108 = 790 790 Xjot=x|x|od A
609 nEE 109-1 = 79 79 Xjot=x|x|od A
610 QIS 109-3 = Q0 Q0 Rjot=X|x |24 At
611 L= 109-4 | 380 380 RII=KIX|A Lt
612 0sE 109-5 = 714 714 Xjo4=x x| A
613 sE 109-6 S 939 99 RIoA=K|x | ARt
614 s 109-7 = 421 421 RIA=K[X|A Lt
615 s 109-8 = 13 13 Kjod=x|x|od Al
616 L= 109-9 = 11 11 RIA=X[X|A Lt
617 nis= 110-1 = 1,640 1,640 Riot=x|X|od At
618 = 110-3 ™ 2 2 Xjot=x|x|od Al
619 nIEs 111 o 212 21 R|Q#=K|x|d Al
620 A=t 111-1 T 106 106 Xjoi=x|x|d Al
621 s 11-2 ] 1,352 1,352 RIOI=X|x|d A




20234 18 22 ool e e =

e =

oI | EX|AKIX] XA ANF | ) HIHA(m) BEX|A

622 osE 111-3 = 268 268 Xjo=x|x|od
623 Iss 111-5 = 23 23 KJoI=X ||
624 niEs 111-6 | 680 680 XIo4=x x|
625 Iss 111-11 H 763 763 Xjoi=x x|
626 SE 111-12 = 5 5 Kjod=x|x|ed
627 sz 112-1 = 5 5 Xjoi=x x|
628 nss 112-2 = 19 19 KIo4=x|x|d
629 o= 113-1 & 973 973 Kjoj=x |K|od
630 Iss 113-4 = 52 52 Kjot=x x|
631 nEE 113-6 T 8 86 RIo4=K|x|d
632 A=t 113-7 H 17 17 Xjot=x|x|od
633 niss 113-8 ™ ®» ® Xjot=x |X|od
634 oEs 208-1 H 2% 2 Xjot=x|x|od
635 =2 209 H 426 426 Kjot=x|x|od
636 IEE 209-1 A 30 304 RIo4=K| x|
637 =y 210 | 390 30 Rjo#=x|x|d
638 s 210-1 & 536 53 Kjot=x|x|0d
639 niss 211 H 175 175 Kjot=x|X|od
640 Es 212-1 X 453 453 Roi=X[x|d
641 niEs 218-1 | 902 202 Xjo4=x x|
642 DS 218-2 | 1,012 1,012 Kjoj=x |X|od
643 sE 219 H 261 261 Kjot=x|x|od
644 nss 219-1 o 393 393 Xjod=x x|
645 Iss 220-1 = 1,210 1,210 Xjot=X|X|od
646 =y 220-2 ] 19 1% RIoH=K| x|
647 nEs 221 = 1,428 1,428 R|Q#=x|x|d
648 nss 222 H 1,329 1,329 Xjot=x|x|od
649 oIEE 223-1 = 410 410 KIo4=X|x|d
650 nss 223-2 = 1,273 1,273 Xjo=x |x|od
651 = 224 = 764 764 Xjoi=x| x|
652 nIEs 25 = 1,898 1,898 R|Q#=K|x|d
653 A=t 225-1 H 562 562 Xjot=x|x|od
654 osE 226 = 711 711 Xjod=x|x|od
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A2 T BNy A gttt & = 20234 18 29 e
o | EX|AAHR| XA ANF | ) HUHR () SRS Ll
655 s 27 = 585 585 RIA=KIX|A Lt
656 Es 228 B 2539 2,539 RIA=K[X|A Lt
657 = 229 = 246 246 Xjoi=x x| Al
658 IEE 229-1 ] 175 175 RIot=K| x| Al
659 s 229-2 = 478 478 RII=X|X|A Lt
660 nEE 230-1 = 681 681 KIoI=x|x|d A
661 = 236 = 152 152 Xjoi=x|x|0d Al
662 s 237 X 294 294 RI¥=KIX|A Lt
663 S 237-1 | 840 840 RIA=XIX|A Lt
664 nEE 237-2 X 1,767 1,767 RIo4=K|x|d A
665 ale=r 237-3 | 545 545 RIQ¥=X|X|A Lt
666 = 237-4 = 314 171 Kjof=xX| x| A
667 L= 237-5 = 301 301 RIQ4=K[x|d At
668 sE 237-6 =1 4 4 RIQ¥=K|X|A Lt
669 s 238 = 1,699 1,699 Rjo4=x|x|od Al
670 niss 239 = 149 149 Xjo4=x x| A
671 == 239-1 = 298 208 Kjot=x|x|0d =1
672 L= A2 e 1,588 1,588 Kjo$=x|x|d Al
673 =2 243 = 1,338 1,338 RIof=X| x| Al
674 nEE 244 = 218 218 RoA=X[X| At
675 nEE 245 = 1,709 1,709 Xjot=x|x|od A
676 oE=s 246 = 929 929 Rjoi=X|x|d At
677 s A7 = 1,385 1,385 RIA=KIX|A Lt
678 =2 248 = 1,702 1,702 Xjoi=x|x|0d Al
679 I=s 249-1 = 1,364 1,364 PN ENN ] Al
680 s 249-2 | 53 53 RII=KIX|A Lt
681 Es 249-3 | 3 3 RIOI=X|x|d Al
682 nEsS 249-4 | 50 50 Xjo{=X|x|d Al
683 oEE 257-5 = 176 176 Kjot=x|x|ed A
684 =2 577 = 40 40 RIA=KIX|A Lt
685 s 257-8 = 10 10 RII=KIX|A Lt
686 A=t 257-9 = 17 17 Xjoi=x|x|d Al
687 oEE 257-10 = 53 53 RIOI=X|x|d A
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2023 18 22 gy Aepe e =E

AL -]
oI | EX|AKIX] XA s | SFoE() HIHA(m) BEX|A
688 niss 258-2 = 79 79 Kjot=x|x|ed
689 Iss 261-2 = R 3 Xjoi=x|x|0d
690 niEs 337 & 584 584 XIo4=x x|
691 Iss 338 = 1,015 1,015 Kjot=x|x|od
692 nss 339 = 1,537 1,537 RIA=KIX|A
693 Rl=r=s 340-1 = 1,656 1,656 Xjot=x|x|od
694 oIEs 340-2 = 1,048 1,048 Xjot=x|x|od
695 0EE 341 = 1,385 1,385 Xjod=x|x|od
696 = 342 = 390 390 Kjot=x|X|od
697 A=t A3 = 2,793 2,793 Kjot=x|x|od
698 A=t 344 = 3 311 Xjot=x|x|od
699 = 345 = 2122 2122 Xjo=x |x|od
700 nss 346 B 1,729 1,729 RIA=K[X|A
701 A= 347 = 1,567 1,567 Kjot=x|x|od
702 IEE 8 = 840 840 RIo4=K| x|
703 niss 349-1 = 1,944 1,944 Xjot=x|x|od
704 Nss 349-2 = 1,021 1,021 RIRA=X[X[A
705 oiEE 349-3 = 1,507 1,507 Xjo=x|x|od
706 iEES 349-4 = 1,630 1,630 Xjod=x x|
707 o= 350 = 1,702 1,702 RIA=KIX|A
708 A=t 351 = 1,511 1,511 Xjot=x|x|od
709 sE K74 = 1,365 1,365 Xjot=X|x|d
710 = 353-1 = 3830 3830 M1ZQEES7K|od, Kjot=x|x|od
711 =2 363-4 = 672 672 Xjot=x|x|od
712 =2 363-5 = 126 126 RIoH=K| x|
713 o= 354 = 7% 73 RIA=KIX|A
714 Iss 355 = 674 674 Xjo{=xX| x|
715 A= 356-3 = 546 546 Xjot=x|x|od
716 nss 38-3 = 141 141 RIof=X|x|d
7 0sE 375-2 = 1 1 M1ZQHF7x|od
718 0sE 378-2 = 1 1 M1ZQHIE7x[od
719 A=t 384-2 = 2% 2 HM1ZQUH =K |ed
720 niss 387-4 = 291 291 Kjot=X|X|d
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TR Matd & 20284 18 22 B
ot | EXMAR | X | X2 | SRR | B SRS HID
721 s 391-1 | ™7 7 MBS IZ={x|od A
2| uss o2 | = 14 1 H1EE E xS M
23 DIZE 392-1 S| 1,706 1,706 MBS Zxd A7
724 niss w3 | A 1 1 AL 1R At
725 Rl 393 M % % MIELE IR At
L 3% 3B MBS xIed A
721 okss 305-1 ol 743 3 1B AR | At
B s | X | o 15 15 MBI 1x]S i
9 nssS 434-1 | 6 6 MBI At
wooEes | e o 2 12 eSS A
731 niEs 433-2 = 2 2 1S FrAx|] At
®ouss B 129 129 H1EE xS M
® | e Mmoo 60 60 MBS xS A
B s a4 e 754 754 H1ELE x| M
®owes | M E 859 859 eSS A
% uss M| d 235 2% MBI {R]of A
| uEs 3 £t 102 102 MBS R At
7 | iss M| g & & MBI X A
39 USS 459-1 =1 285 25 M1ELE 4RI ARt
o uss 592 | = 10 10 BT IxIo] A
741 o= 593 | = 17 17 1S FrAx|f At
o Ees | M| = 2 23 QBT i
s uss 496 | % % H1EE Ex|oS M
44 Tes 460 gt 19 19 HSLe x| Akt
745 A= 460-1 H 3,2% 3,256 MIZEQH = K|od, Kjot=x|X|od Al
o uss 402 | o 130 139 AL {R]of A
T 61 cf 545 545 MBI IX], Xiot=x|x]o] A
| uss 411 o 420 120 H1EE E x| M
[CY EES 461-2 =] 3% 39 HIBUL R[], Kjod=x|x|o] A
o USE %13 | o 506 506 MU IRI, Kiot=x|x|] Al
751 Iss 461-4 ch 231 231 MAZEQH =7 {x|0d, Kjoi=X|x|[od Al
752 Rl 461-5 c 351 351 MISLLEAHRIA At
moouss | 46 o 28 228 e A
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20234 12 22 A et = B

ol | EX|AKIK| XA A | %) AR () XA

754 = 461-7 [ 66 66 (el S VA BE

755 ois= 461-8 ol 288 288 H1Z IR

7% nss 461-9 = 13 13 MBS XA

757 A== 461-10 (= 13 13 H1BLUE 7|

758 nss 461-11 = 6 6 MBS XS

759 nss 461-12 = 0 30 1SR XA

760 A= 461-13 o 114 114 MBS FIHX|A, Kjo=X|X|A
761 oEE 462 | 945 5 RQI=X[x|

762 ois= 462-1 | 1,26 1,256 MBS EFIHR|A, KIoI=K[X|A
763 ois= 462-2 ol 555 585 H1Z 74X

764 0EE 462-3 ] 112 112 H1Z IR

765 A= 462-4 = 17 17 M1EE EHAXA

766 0EE 462-5 A 711 14kl M1ZQHF7{x|od

767 A= 464-1 X 6,124 6,124 Kjot=x|x|od

768 sE 464-2 o 181 181 MBS EFIHX|Y, KjoA=X[X|
769 nis= 464-3 = 413 413 RII=KIX|A

770 ali=2== 464-7 = 45 45 RIA=X[X|A

771 s 483 = 53 53 1B E7XA

72 ois= 489 = 310 310 (el S VA BE

773 e=r= 490 =1 730 730 M1Z IR

774 =t 491 2 73 73 H1Z 74X

75 0ss 4 A 1,280 1,280 MBS IR

776 nis= 492-1 A 641 641 (el S VA BE

T 0EE 493 = 340 340 H1Z IR

7718 sE 494 =1 341 341 H1Z 74X

779 s 711 = 1 1 MBS EEARA

780 ois= 721 = 1,194 1,194 RII=KIX|A

781 0EE 72 & 542 542 MBS FIHX|A, KjeA=X|X|S
8 sE -2 | 451 451 RII=KIX|A

83 oSS 2 | 1,756 1,756 Xjo4=x x|

84 nIEs 773 X 248 248 Kjof=X|x|d

78 A=t 774 =2 » %9 Xjot=x|x|od

786 = 5 = 358 38 ISR TR, RIQI=K[X|A
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A3 T g et 20234 18 22 YR
o | EX|AAHR| XA ANF | ) U () XA |
787 =t 157 | 846 846 RO¥=X|X|d Lt
88 =S m ] 955 955 KIo4=x X |3 A
789 niEs 718 | 50 50 XIo4=x x| A
790 =25 7 2 212 212 Xjot=x|x|od Al
791 s 780 H % % KIo{=X[x|d A
R A=t 781 = 83 833 Xjod=x|x|od Al
793 = 782 = 826 826 Xjot=x|x|od A
794 s 783 =1 742 742 Ro=X|x|d A
7% s 784-1 = 992 e7) RIoI=X|x|d Al
79% Rl 784-2 = 1,445 1,445 RjoI=X x| Al
797 Rl=r=s 784-3 = 1,054 1,054 KJoI=R |X|0d Al
%8 = 784-4 = 2 %0 Xjo=x |x|od Al
79 oEs 785 = 307 307 Kjo4=x x| A
800 =2 1468-3 = 1 1 Xjo=x |x|ed Al
801 iEES 1473-2 eS| 89 89 Kjo=x|X|od AR
802 sE 1476 T 79 79 MiZQlE IZ=7{x|od Al
803 nss 1479 = 76 76 1B IZ7K|0d, Kjod=X|x|od Al
804 oiEE 1481-1 cH A kY Kjot=x|x|ed Al
805 iEES 1481-2 o 14 14 Roi=X[x|d At
806 niEs 1485 - 108 108 1B IZ7{K|d, Kjod=X|X|od A
807 nss 1486 = 376 376 MBI IZ74K[0d, Kjod=X|x|od A
808 niss AiB0-5 el 61 61 Xjod=x|x|od At
809 nss Al61-1 ol 337 337 Xjod=x x| A
810 == A61-2 ol 1 1 RQI=X[X| Lt
811 =y Al61-5 o 123 123 RIoH=K| x| A
812 nEs Al62 el 6,078 266 M1EQHEs7{K[od, Kjot=x|x|od Al
813 o= Aipa-1 ol 161 161 Kjot=x|x|od A7
814 A= AR45-9 & 55 55 Xjot=x|x|od A
815 oISE Apgg-1 | 2 1,563 1563 Ript=A|x | At
816 = M46-2 =<} 17 17 Xjot=x|x|od Al
817 s 46-7 a 79 79 XIo4=x x| A
818 L=t Aear1 | 198 198 RfoH=K|x|ed At
819 2= Mear-12 |2l 198 198 RfA=R|x | ARt
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20234 18 29 Y et = B

oI | EXIAKHK| XA A= | () AR () XA

820 ois= Al253-1 ol 1,686 1,686 RIA=KIX|A
821 =S AR53-2 b= 62 62 KIo4=x X |3
822 0SS AR56-1 S| 793 649 RIA=KIX|A
823 IEE AR57-1 = 1,715 1,715 RIot=K| x|
824 niEs Asg1 | A 4,887 4,887 RIOI=X|X|od
825 nEE A58-2 | 183 183 Xjod=x|x|od
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